2023std = 28t7| 2X}11A}

ga 3t g 38t
Z& 3y i & =g 3 HH &
1 2 2.5 1 2 2.5
2 1 3.5 2 1 3.5
3 4 3.5 3 4 3.5
4 5 3.5 4 5 3.5
5 4 3.5 5 4 3.5
6 2 4 6 2 4
7 1 2.5 7 1 2.5
8 5 3 8 5 3
9 3 3.5 9 3 3.5
10 4 3.5 10 4 3.5
1 2 3.5 1 2 3.5
12 4 3.5 12 4 3.5
13 2 13 2 4
14 2 14 2 4
15 3 3.5 15 3 3.5
16 3 16 3
17 4 4 17 4 4
18 1 2.5 18 1 2.5
19 5 3.5 19 5 3.5
20 3 2.5 20 3 2.5
21 1 3 21 1 3
K1 |trouble 3 A1 trouble 3
(A) They may/might have had their (A) They may/might have had their
A2 own alphabet. 6 A2 own alphabet. 6
(B) They must have known how to (B) They must have known how to
|nake dishes/plates. make dishes/plates.
K3 |decision 3 A3 decision 3
M4 |Can you do me a favor? 4 A4 Can you do me a favor? 4
M5 Helen used to be a cook in/of/at a 4 M5 Helen used to be a cook in/of/at a 4
restaurant near South Bend. restaurant near South Bend.
K6 |natural disasters 4 A6 |natural disasters 4
A7 Coming out 01.? the earth, thg hot 6 M7 Coming out of the earth, th(? hot 6
rock makes hills and mountains. rock makes hills and mountains.
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2023&HA T 28t7| 2X} DA}

20f 38t =20 38t
=s Hg b = =3t g b =
1 5 2.5 1 5 2.5
2 2 2.5 2 2 2.5
3 5 3 3 5 3
4 3 2 4 3 2
5 5 2.5 5 5 2.5
6 2 4 6 2 4
7 5 2 7 5 2
8 3 3 8 3 3
9 4 3 9 4 3
10 4 2.5 10 4 2.5
11 2 3.5 1" 2 3.5
12 1 3 12 1 3
13 4 2.5 13 4 2.5
14 1 2.5 14 1 2.5
15 3 3.5 15 3 3.5
16 1 2 16 1 2
17 1 2.5 17 1 2.5
18 4 2.5 18 4 2.5
19 2 2.5 19 2 2.5
20 3 20 3 4
21 5 2 21 5
22 4 2.5 22 4 2.5
23 23
ML 6 M T 6
K2 |19 aEel daxel 057t g, 4 M2 | mee aExe) 057t gin. 4
AME ol f: F(H)o] BSFHE He o g ol%: E(=hel BEFHE M
ol7} @i, o7} 9k,
A3 6 A3 6
oA 2 B Be AP B2 23 0 & 23 Be Ao 8 Fn
g B28 242 2713 Ao g 2oo 242 2710 A5
O AFsHE BFL FEst 2ol Ol AFFE 'EFE T2k vl
qa [ R oa Agas | wa A sz o s 8 |
Fe 2% got.olx, @ #% o 2g% gt 'oln, ©d A%
= 23 4Ee HAlr. = 24 HBE RAlolt.
241: FdolE nFA oA & 9 271 Fdolt uFlA oA &
M5 |25 savie agdd & aae | O M5 (20 S ngdn & aas | O
A et oA Wt
e [TE A FA AT de Fejop A 4 Mo |58 U 9N A% L Fojor A s
2% 48 ¥ & Qo % 42 ¥4 # A
w7 | S5 e cae 1 A7 |1 S e cas :
wp [LF AT AUSa R R | wo [LF AT Hha 2E da |
i 100 i 100
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of AL 38t 4 A 3=rd
g Bg "E sa Hg e
1 3 2 1 3
2 5 4 2 5 4
3 3 3.5 3 3 3.5
4 1 4 4 1 4
5 4 > 5 4 2
6 5 4 6 5 4
7 4 3 7 4 3
8 2 3.5 8 2 3.5
9 1 4 9 1 4
10 2 3.5 10 2 3.5
11 1 2.5 11 1 2.5
12 4 3.5 12 4 3.5
13 1 4 13 1 4
14 4 3.5 14 4 3.5
15 3 15 3
16 2 4 16 2 4
17 5 3.5 17 5 3.5
18 3 3.5 18 3 3.5
19 1 4.5 19 1 4.5
20 5 4.5 20 5 4.5
21 21
22 22
23 23
24 24
25 25
FINEEE 3 Al =24 3
H2_|53%s 3 H2__ 338w 3
H3_|[7at, 389 4 M3 737, 5E3 4
4o aT§ Wolzol Yete n A Re) 278 Wolzo UetE nA
M4 |oF guch == A% sHg 9m |3 M4 lof gug. E= 3% s@e @m0 3
deket M4 S A} g, veleh g AAck g
OEFAA} WA} A e & OEFAA BAH| A Fo &
AE AReA o} AA F1%o £ AE ARIA o} RA F1Ho] BB
$x1 2dol okspElol BT B Hxx g0l okspElo] AT B2
N5 |see a4 AgaRt.(63) 7 M5 |58% a8 NgaR. (G) 7
@43 44 ol 29 9| 9ol @729 44 okd 2% 29 Ygo)
oA Fe B ¥R o] 2B oA Fe B ¥R sdo] 2B
oz #1249 R ohiuh(18) oz #1249 e ohIuh (H)
W4 BAE Sastels 4eH A 4 BAE sasls 445 4
M6 lzo)q. 3 S By 3
W7 [FA99 we masciEm e W7 [FA99 ve mammima us
A=AA e 522 LAHA. AEAA ] 2T BAFHAT.
M8 _[o1sroid M8 _[o1sreid
i 100 5 100




2023stAd T 25t7| 2Xt10 A} 2023&HA T 287 2X0A}
= 35t =5 354
= a3g i & Zg Ay HH &
1 1 4 1 1 4
2 2 3 2 2 3
3 3 4 3 3 4
4 5 4 4 5 4
5 3 4 5 3 4
6 4 b 6 4 5
7 5 4 7 5 4
8 1 3 8 1 3
9 2 3 9 2 3
10 1 3 10 1 3
11 2 3 1A 2 3
12 5 3 12 5 3
13 3 5 13 3 5
14 4 5 14 4 5
15 1 4 15 1 4
16 2 3 16 2 3
M1 [HlneE FAH =4 4 A1 nneE FAE =4 4
qANEHAE FE HEHELeR A JANTIIAE FE HEHELOE
Ast7] AFstd e getA] 3§ A3at7] AFstd o g9atA 8§
sFolofsta 2gA HEA Y slFolokstn ¥ A HURW £
A & s oFgit. He7kA] & &-sf oFgtrt.
N2 [ued1. =edoz YA vk 15 A2 H#El =gdoz AU v 15
Holw HEdHA FAH Aldozqt Holn] #H=dtHA FAH AlHo=Zwk
v 2o, vhEHE o},
H@A2, MR 7] Ao L7t o @ A2, A7) dd ¢t %
S F AeE AAEta A S T U&E IFH3n A
M3 [Z9= 3§ty 3 A3 Z= 3 3
A4 |Ldsto] v 3 K4 L " sto| 3
A5 |H5o= HE 287HE A 5 N5 |E&o= vg 2387HE A 5
AFNA FLEA 71d o] d&F AF7A FasA 71d o] &
Me |2 8= ¥d7]E st 2 whiE A 10 Me |2 8= H37= sta a1 dg= Al 10
AlBtAl 47 Dol wj AFEHA AlsHA 71| Aol wl-$- AFEHA
th7be ot} th7hg Roltt.
Al 100 Al 100
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IS s

A 38t s 38t

28 :E] e =3 g e
1 3 4 1 3 4
2 2 3 2 2 3
3 4 4 3 4 4
4 5 5 4 5 5
5 2 3 5 2 3
6 1 3 6 1 3
7 1 3 7 1 3
8 3 3 8 3 3
9 4 3 9 4 3
10 2 4 10 2 4
11 3 3 11 3 3
12 3 4 12 3 4
13 5 4 13 ) 4
14 2 5 14 2 5
15 5 5 15 5 5
16 1 5 16 1 5
17 4 4 17 4 4
18 3 5 18 3 5
19 19

20 20

21 21

22 22

23 23

24 24

25 25

A1 oo 3 M1 oo 3
N2 [:9% w25 e 2 25 4 Rz [n:dg 0 gF g 2s 4
N3 [ ma7) 3 N3 | 287) 3
K4 |54 3 K4 |8A 3
A5 |7 tiFd v :DNA(dna) 4 A5 |7 :thEd v :DNA(dna) 4
R 4 K69 ol 4
K7 _|7Ht 5 R7_ bt 5
A8 |F=d 4 N8 |F=H 4
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A 38l 38t A3l 35t
28 =h= b & 28 Sh= HH &
1 2 3 1 2 3
2 5 3 2 5 3
3 4 3 3 4 3
4 1 3 4 1 3
5 3 4 5 3 4
6 5 4 6 5 4
7 2 4 7 2 4
8 3 3 8 3 3
9 2 4 9 2 4
10 4 4 10 4 4
11 1 3 1 1 3
12 2 3 12 2 3
13 3 3 13 3 3
14 3 3 14 3 3
15 5 3 15 5 3
16 1 4 16 1 4
17 1 3 17 1 3
18 4 3 18 4 3
19 4 3 19 4 3
20 3 4 20 3 4
21 2 3 21 2 3
A1 [rAI= A 3 M1 [HAEA 3
K2 [2EFE= 3 N2 |=A=c 3
M3 |A: 12, B: 3 4 A3 |A: 12, B: 3 4
Q2 #ddo] TdxFx Aol 7| AL BgtMo] R Fa o] A7 o
Ha |EO B3 71ds A8 8 Ma | B 214E AHgd, 8
O o] ExFstm Hol B7] O 3ol s do] §7]) 1
Eol AN 7142 AZd). 7ol AH 71Mg gt
M6 Ci),ﬂﬂlﬁﬂ_o_i%zl FL AFS A 6 M6 (i) 01]14;1 oif:zl £ AFE AH83t 6
= A% F2 Hdtoln, = Ax F& uotel.
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s 3st & 35t
== Mgt B & 28t dg oy &
1 4 3 1 4 3
2 3 3 2 3 3
3 2 3.5 3 2 3.5
4 3 3.5 4 3 3.5
5 5 4 5 5 4
6 4 3.5 6 4 3.5
7 2 4.2 7 2 4.2
8 1 4 8 1 4
9 5 9 5
10 3 4.5 10 3 4.5
1 4 4.2 11 4 4.2
12 5 4.3 12 5 4.3
13 2 4 13 2 4
14 1 3.5 14 1 3.5
15 5 4.2 15 5 4.2
16 4 4.3 16 4 4.3
17 2 3 17 2 3
18 1 3.3 18 1 3.3
19 3 3 19 3 3
A1 |#=F ol 3% v&= 1:104, 3 A1 =2 o ZF9 HE 1:104, 3
A2 |3E48E 3 M2 UEAS 3
A3 |EIEAZT YA g AslER 4 K3 B FAI 7L ARl H AR 4
1) TtRW 1) TtRW
2) ZF 19(TtRN) ) AAA=E A=} 2) 2 10(TtRW) Q) L= 43}
3L TR, TW ,tR, tWolz ujd TTRR & TR, TW ,tR, tWolx =& TIRR
o AHME FAAYL TRoj2Z 3F o AAHE FHAYL Ro|Z2 F
A4 |& 2t1& TIRR, TIRW, TtRR, TtRWo 7 A4 Z 2t]= TIRR, TIRW, TtRR, TtRWo| 7
t}. o|F J|7} & &N Euo t}. o]F 7|7t 2 EFA BELS
TIRW, TtRWol= 2 1/2¢] FFo|t}, TIRY, TtRWo|E= 2 1/2¢] &Fo|t}, o
gA 717 2 23N B2Ze] F Ae 2t 77t & BEN BEZo] F A
2007] 0]}, 2007 o] T},
DL T, (W) Tt O Tt , (U) Tt
M5 2) (th7t 8F U= #4232 11, 6 A5 2) (th7F 5 d= FAAFL T, 5
Tt, Tt, tto]B2=2 vlhd FEL 1/4 Tt, Tt, tto]BZ n#d 52 1/
olm 2 25%0]C}, o= & 25%0|T},
1) 74X Ag(pc) = 1/0.4#= 2.5 1) E7-x9] Al(pe) = 1/0.47= 2.5
pc pc
2) A5 3L 1W0pcd] AFAAMY & 2) ANSFEFL 10pcd] AFNAY 5
M6 FolBEZ Hrtxle]l A7} 2.5pco 2 7 M6 Foluz A9 Agst 2.5pcoE 7
4] Dojzgemg urlE 164 oF Y 41 dojFoem= )& 164 o154
itk 16¥9] BrE 3FFEFAO|ER 3 A}, 164919 7= 35FAolm= 3
SFolFdzemz olde 8= 4 SFFHACER o|Ee HIE= 4
SFoltt, S3olth.
Al 100 A 100




D

)
N
ae.

1l 2RfAny 52>

—
HY o e
1 2 4
2 1 4
3 1 4
4 3 4
5 3,4 4
6 3 5
7 5 5
8 2 5
9 4 4
10 5 4
11 2 4
12 4 4
13 4 4
14 1 5
15 2 5
16 5 5
LR
1() 24 5
2(Th 42 5
(1) AB=PBol=2 ,BAP=2APB=35"
ol LABC = £2BAP+ < APBo|F &
3(AM) 2ABC=35"+35°=70" 6
(2)£A0C=22ABC=2x70" =140°
(3) %4 AOCH Hol mx 62 x 320 = l4n (cm)
(1) Pg=2rrette_gojoa
at+b+c=40—15=25
@) BAF = (=2 +12+(c—8)" +(b—8)* + (c—8)
5
4(M) -° 7
0|02 (a—8)*+(b—8)*+(c—8)*+5=15
(a—8)2+(—8)2+(c—8)*=10
& +8+&—16(a+b+c)+192=10
. a+b 4 =218
(1) (B )= mx1+2(:x5+3[;:9+40x3+50>«.2 =%=30 ®)
(2)(Z4)
5(M) _ (=20)* X1+ (=10)* x5+0° % 9+10° x3+20° x2 _ 2000 _ 7
B 20 = @

. (EZHxP= +/100=10 (&)




